
Super Tenere XT1200Z 2010 > 

Frame Infill Panel Part # 22125 

Contents 

2 x M8 x 40mm dome head Allen bolt – CBOLM80012
1 x small cable tie – CAB0200 

Fitting Instructions 

 Remove the pillion foot peg from the right hand side of the bike

 Fit the panel to the bike with the pillion peg over the top of the panel using the M8 x 40mm bolts

provided. (do not tighten fully at this stage)

 Feed the cable tie through the slot in the rear of the panel and then through the small hole in the frame.

 Fully tighten the pillion peg fixings – torque spec 20 ft lb. (USA) / 27.1163590 Nm (UK/Europe) - and

pull the cable tie until it holds the panel firmly at the back.

 Check all fixings periodically.

Super Tenere XT1200Z 2010 > 

Frame Infill Panel Part # 22125 

Contents 

2 x M8 x 40mm dome head Allen bolt – CBOLM80012 
1 x small cable tie – CAB0200 

Fitting Instructions 

 Remove the pillion foot peg from the right hand side of the bike

 Fit the panel to the bike with the pillion peg over the top of the panel using the M8 x 40mm bolts

provided. (do not tighten fully at this stage)

 Feed the cable tie through the slot in the rear of the panel and then through the small hole in the frame.

 Fully tighten the pillion peg fixings – torque spec 20 ft lb. (USA) / 27.1163590 Nm (UK/Europe) - and

pull the cable tie until it holds the panel firmly at the back.

 Check all fixings periodically.


